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B mo 0:30 1:30 Gy
1 [BX#HFOR 1, 000 3,000 3,138
2 BERRER 2,000 1,000 10, 059. 551
3 | B\ R 2,000 6, 000 1,049
4 1B ERRFR 1, 000 2,000 2,508
5 IBXRHER 1, 000 3,000 3,307
6 BRI R 3,000 9,000 12, 449. 448
7 BEBRRER 3,000 9,000 13, 911
8 B B = 0 1, 000 1,616
9 HERER 0 0 106
10 (mWvbh#HEM 1, 000 4,000 4,212
At (ADRER 14, 000 44,000 58, 955. 999
R (h) 23.24 13. 05 100%
EREH 46, 235 16, 235 0
AUREH 58, 956
BT 1,219 BREBH 60, 235
Y RTHAEDRER 0. 001 REEH 60, 235
BHRY EBDRSE 0
BRERHETICEHT 158 (35)
LEHEEER 117,778
SREH 60, 235
SEEH (B) 30, 410
SREH (R) 29, 825
RER 51.14%




